Engrant (FMAE) (FE L)

(1) A¥A162cm, B¥A153cm  (2) 7cm &Y 3) 12cm &V
(1) AXA 1554(47)=162(cm)
BXA 155+(—2)=153(cm)
2) (+4)—=(=3)=T(cm)
2T, CTAREDIALY 7TecmEW,
(3) BRMPELEEOAIZA XA
BENE S LEEVAIZE XA
(+7)—(=5)=12 (cm)
2T, FRVPE-LEFOAE, EoLEEVALY 12cm &L,

(1) 415 = (2) 83
1) 80 mELDBMMDEFHE
(45)+(=3)+(+11)+(+6)+(—4) = +15
£-T, 5EDB/ENEEH
80X 5+(+15)=415 ()
2) 1[EH=YDEEDOFEEIL
415+5=283 (&)

(F19) = (BEEDME) + (BXEL DB DFEL) 206,
KD DHFEFIE 804 (+15)+5=83 (=)

ﬂz% (1) 545 (2 56/
1) A, B, C D3 ADEBHEDFEHILE0 HT, {(+11)+(—16)+(=7)}+3=—4THh?
M6, E BEOBAIE  50+4=54(H)
2) EZBEDbLAAVDESZ
{(+11)+(—=16)+(=7)+(+22)+0}+5=+2
£oT, 5 ADBEDFEHEIE  54+2=56 (%)




